e

[ B

An alkabne earth meta] M forms covalent compounds. [t forms water soluble sulphate MSO,
and waler insoluble hydroxxde M{OH), which is amphotenc in nature. The metal M 1s
(A} Calaum d Berylhum (C) Magnesium M) Strontium

sa ey Camomsaddr & Mauchdy: Gt &1 waw wCorse M. e seqye seCuie yo
(M5S0, ), fha serury mMiuwy seaw Gscar. agp masaaeLund M(OH), sndany ps
e Carmn M

(A} snpdhy {(B)  Gudldhwn () dusatfus Dy evgonendiuns

Consider the following statements

1 Dhamond 18 bad conductor of electnaty

1I.  Graphite is used for making electrodes of electric furnaces
111  Solid carbon monoxide 15 known as dry we

IV Carbondioxide turns moist red htmus shghtly bluish

Whaeh of the above ststement is/ars correct?
(A) Tand Il (B) [T and I S 1adn D) 1Mand IV

bpssam mpproer pus
| daruse s dar g o gy
M Sekarg e aasafis oweuin ddwrysa ponfss rmau. vuauilegy

Ul i Sewdgae s Corlansans Lamngs vallss » v sapssou(ideg

[V, sl gémsi. faiy dhoma pa §ipors wrpguw

Copaden mpgadie sfivomg og?

(&) Topge N (B) TN wpgps 101 () 1opgell M [0 boge MV

Match Last | with Last [l correctly and select your answer using the codes piven below

List | {Ores) Last 1] (Metals)
(a) Haematiie 1. Lead
(b) Cinnabar 2 lron
() Calamune 3.  Mercury
(d) Galena 4  Zine
Codes .
(a} (b) (<) (d}
v 2 3 r 1
(B 3 2 1 4
2 4 3 1
D) 4 2 l K

3 DC 12
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E.. Which of the following 1s/are correctly matched?

1l  Artentis - Inflammanon of artery

) Oeclumon - Closure of hlved vessel

i) Thrombectomy - Removal of blood clot from a blood vessel
ﬁ All the three are correct (By Ouly (i) 1s correct

10} Qnly () 18 correct (DY Omly (iu) 15 correct

Lpssam appd ol nme #lluns Qurmgduaag?

(1] agieing gk - pwalSa diso

) pAgeys = sps pyesa e Llige

(ui) gomaGuacis - Ersss spau s Ly Bassa

(A)  ppag Gunmasasgns sllurarme (B () wlHuwefunag
Q) (1) v (b silurengy (D) () ol @G sfurmgy

7 Whch of the following statements 1n not associated with biocommunication 1n ammals?
{A) They are signs through chemical molecules
{B) Itis & mechamesm of vocahizauon as seen between competung bird species
\m Associated with social conflict of organism between same species
(D} Tte production of pheromones as between various species of insects

dpargpio mppesien aps dangsd e dr gsadiudo Cayrgaa’

(A} Peasa Gaufvtud rpassma maoiremsar

(B}  uperauasfen gre Aprafure Cumiig Curfuaa

{C} @y geuschian m ) gHruwrs arygn Gudysae apse

I yedaksea Latap Apllansdia o marsauuyo Jurmorasar

8  Assertion (A) ' On ramny day small ol film on water show bnlliant colours,
Reason (R) This 18 due ta polarization of light.

(A} Both (A) and (R) are indivnidually trus and (R) 1s the correct explanation of (A)

(B} Both (A) and (R) are individually true and (R) is not the correct explanation of (A)
T (A) s true but (R) is false

(D) {A) s false but (R) 18 true

a 5 DC 12
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l’ Match Last [ with List I and select the correct answer using codes given below

11.

Last 1

{Culture Realms)

(a8) The occidental
{b) The main lslamic

{c} The Indic
{d) East Asia

Codes :

{a}
(A) 3
(B) 2
(C) 1
(D} 3

(b)

— = L2

() (d)
1 4
4 1
2 3
4 2

Last II

{Cultural Areas)

1
2
3.
4

Korea

Anglo - America
Jordan

Nepal

vl igwe b vl ywe 1 sfiurs Qurmssas : 8Cp danBasuul e ugfaar

Ll sd [

(sandeny @b}

(a)  gydafG dm o {Cuops mlrmodhud)

()  padlu Gevamss

(@) @pfa

(@) Sipbs yfue

sHAH

(a) ib)

(A) 3 2
G 2 3

(& 1 4

(D) 3 1

s b e —
B L2 e

-
(swebsny SyGgsid)
Qsmilyn
diGanr- s@wlaan
Qg ren
Cpumamnb

The earth crust is separated from the Mantle by a layer of discontinuity called as

\W Moho

(B) Curtenberg

(€)

Asthenosphere (D)

yellGuim_gp@w. Cutiaadgd g Cw sramiulin Hea_ Qe

(A) Guebgps

B) &L dngni

(€

salfCamandwr (D)

Hamblin

powirebien

DC 12
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1’ Which of the following statements about 'Babur’ are True?
He was the fourth descendant of Timur from the side of his father, and ﬁheenth

15.

I

(.

It

Iv.

(A)
(€

descendant of Changizkhan through his mother

He was the fifth descendant of Timur from the side of his father and fourteenth

descendant of Changizkhan through his mother

He was the fifteenth descendant of Timur from the side of his father and fourth

descendant of Changizkhan theough his mother

His family belonged to the Chaghatai section of the Turkish race

I and 11 are correct
Il and TV are correct

{8
)

unuagl upfl Spésan_ smpyseie suraeae aaeu?

L

1.

III.

V.

(A}
{C)

Il and TV are correct
1 and IV are correct

s ghag afde mgupla graéstag spesfunc sl afla Qelifleusraiarn
uflenenpgieugs #psSluyd Leurr

Sieutt gheng augluld engepllar migreug spsduyn gmieyiluia Qekdeavsnafla uammancg

SHEHuD SpeumT

Zeud gheng ayfhlid agopfan uPompsiaug spgfub snu sl GQedddvsrallan

mrengneugl shsuid UTUA Speurd
SHAHELL BHOLL gmEdu Baddd sand agleaus sripsg

P 1l vipe IV o

D) 1wdgs IV A

1 wogd I &f
I wpgrd TV #A

Match List I with Last I1 and select the correct answer uaing the codes given below the lists.

{m)
{b)
()
{d)

List [
EVR Periyar
Aurobindo Ghosh

Dayananda Saragwathi
V.D. Savarkar

Codes :

(A
®)
v
)

(a) {b) {c) {d)

= 3 B3 ke
e = 3 BD
B e = ga
L s

Lo

List IT
New Lamps for cld
An Echo from Andamans

Family planning
Satyartha Prakash

DC12
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[8.

18.

20.

L edd swuy dasmun akls srams Loy 7
(A eobla winmn usHad

(B)  ofls cwartifluem ps ugea

(C)  cwapfe aomifl gapis usfas

D) eade urmacaeuglsda

Which is wrongly matehed?

1. limestone - Cement industry
I.  Coke - lron and steel industry
IMI. Cotton - Textile industry

[V. Manganese —Paper industry

A 1 B I \/W o 1

Lysaw_appo ag sfurs Qurmssosblema?

L sdvenmoysss - Hluem_ gyow

. Csrd (pn ams foussfl) - By wpg .48 o
OL  ugss - Qpsamma

IV wdsels - sndg yeoe
(A)

i By Ml (€ Iv D 1

The diagram which is drawn to show the calculated wind speed and direction

{A) Isotherm (B) Barometar

(C) Wind Rose (D) Wind Mills

sewadh (xS Causw whgub Perseow &L a@roiuBn aqiuLs

(A) o Gasiu Cam B utid (B) srppoppgnrai
\W aTpp Sens asguLLD D) srpprewser

Arrange the following sequential steps of autotrophic succession in the correct opder
I Aggreganon

Eocesis

Mudation

[nvasion

Migration

<agm

LOmImyv B LIOLV.IV.O
IV, Iv,L 0 gﬂmw,v,u.]

G E

11 DC12
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23

24.

Whach of the following statements is/ave not relevant to Gandhi-lowin pact?

] Government agreed to withdraw the repressive ocdinances

Il Gavernment agreed to release satvagraha prisoners

11l Congress agreed to parucipate in the thard round table conference
IV  Gandhi agreed to suspend the cvil dhachedience movement

(A) 1l and 1] (B) [onmly ([ Mand IV \ﬂ 0 oaly

Geaume mppache oy o sobf-@irebicn o . a g smale 5 Qam_mSdwegg?

I sge i apopep Saustd 2 ssaar SounouEup guuys Caram g

I Acpddmiso sphurdrdsoe S(gae Qo Hie Goys Garam g

T sendigan qpanpraug) L Cuas DIBM w2 sopg Lssarasps, Gona dasam g
IV snpf s cgoy puasgfaean gpsrdlscrs Ppsf ewss guus Guren nit

(A I wpges 11 B) o © Ioage IV M Mo G

The average marks m Enghsh obtmned by 300 students 18 45 The average marks of first
100 and iast 100 studenis are 70 and 20 respectively. The average marks of the remaining
100 students s

& 70 B) 20 N D) 50

Sulagde 00 wiaminafa spnsfl o Cuse 45 ppd 100 wppw s f 100 Lemratsefiar
Fyrefl wiLGusr 70 wppd 20 et ursdume 100 vrarwesafia syref nHuCuem pmy
(A TO B) 20 {C) 45 (D) 50

Struges rule for determinung the number of classes (K) in a frequency table is
A K-14332g,N (B) K =1-332log, N
({00 K=1+222lcg,N (D) K=1+8082gN

Papayu g udia Glesda carafisms (K) ‘e s’ difssiian 8 2 pd Colag
(A) K =143 32og, N (B) K =1-3320g, N
(©) K=1+2320g,N D K=1,332g N

18 DC12
[Turn over






e

29.

30.

Horizontal bar diagram is used for

(A) Qualitative data (B} Data varving over time
{C} Data varying over space w (A or ()

Slen wren uen ellergaluL.sdler LT Spang)
(&) Ly greyser ' (B)  arauid snips omyua( efleugmisar

C) gl gens Qamam@ womu@in eNedyhiser M (A sbag (C)

Classification is the process of arranging data in
(A} Dafferent columns
(B} Different rows
W Grouping of related facts in different classes
(D) None of these

UGB eranug AgrELy eleiama papuBFsis eaptu
(&) wmyule Brd

®) wnpuie oy

(C) wrgul Gficbien Sip gmbiss smos ann Catssd

D) @epger rgepddme

The sect which used to have the Trisul mark in their feet during the mediaeval period of

Tamil Nadu
(A) Fortune Tellers

vfﬂf Women of Temple Service (Thevaradiyar)
(C) Priests

: (TJJ.:-‘ Temple watchmen

Blossra gllipagda sug unshsala gasehls GRHGUTLHE dardrgnn aupssaipaw gipedanm

(A)  mhlQsraGant (B) Cgpeaumgwny
(C)  yenfser D) CesmdbsraiGuire

15
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. 34.

Match Last | with Last IT snd select the correct answer uning the cods given below the lLists -

Last | Last 11
s] Annié Besart 1 Young Indu
) 3. Subramana Avar 2. New [ndua
e} Gandh 3 The Swarap
(dy T. Prakasam 4. The Hindu

A 2 1 3 4
(B 2 1 1 3
4 3 2 |
wr7 z o« 1 3

aflens e o aflens [[—qamas Qurmadl elasspyas, SYlasGin o G Qenaddimng

sfurer e Geomy Gpia Grus

sufiane | wiflaps il
(a) oeafCisa 1 e gedon
(b} i snSipoeses gusd I oy Esbur
{0 sid 3 evege
() o Gesesss i B
wfSgam

{a) (b) ich (d)
(A) 5 1 3 4
(B) 2 1 4 3
() q i 1 1
(D) 2 4 | 3
17 DC 12
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37.

38.

gilwurs Qurmggs

SRN[MATHT-Y
(srouCar vsmenm () Hpycuemd)

{n) WTO

(b FAO

(¢ WHO

(d) UNESCO

@fluiRae :

@ O {9 @

(A) 4 2 1

(B) 2 4 3

(C) 2 4 1

(D 1 2 4

[ T o R )

U iguseu [T
(Eyapsisdr)
1. evemur QuaCareur
LInaggeD aomusl
wrilaErT gren

Gggnaiv £CGradlwnGam_r Hdeur

ol T =

Find out the wrong number in the following sequence :

22, 33, 66, 99, 121, 279, 594

(A) 33 (B) 121

uaﬂf’zvg (D) 594

Weneugmid AgmL M seuprer erameneanr sam@idy,

22, 33, 66, 99, 121, 279, 594
(Ay 33 (B) 121

Identify the missing :

§ 12 9
07 20
3 1w ?
(A) 13 (By 14
sllpulLeng srams :
B 12 9
0 7 20
3 10 ?
(A) 13 (B) 14

€y 279 (D) 594

{ﬂf‘ 4 (D) b

c) 4 m 5

19 DC 12
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.4[}. Wha buiit the temple “Vellore Jalagandeshwarer?

4L

M Chinna Bomunaiyakkar
iB) Vishvanatha Naivakkar
‘s  HKrishna Devaravar

(D} Thirumalal Naayakkar

Ceugm seussar B seuqi Gamudemas S ipweur

(A)  Hren Qumbep Brossi
(B)  ellseupnp prusssi
0y Amegen Cpapmur
(D) Bemowe proussh

The 44th constitutional amendment Act, 1978 relating to the declaration of national

emergency requires the Presaident of India to act 1n aceordance with the

(A) Collective advice of the entire council of mimsters
\(m Adwvice of the union cabinet
(C) Advice of the attorney general of India

(D} Adwvice of the supreme court

1978 b e g8 44 ugy ) Fuseaowoiud o o SingasHan e BinuiTss gt B8 Anmssy,
Aamaaow Brsauss aga o Corsmaanu i!ﬁ)g drusul Ceuam(pn?

(A) [0 Qwrgs wedudn wienodsrananbien s L gy Ganmsamara

(B) wellua snia g g Carsmaey

Q) @pfu gaacw agssanghian 5 larsmaamu

(D) wbsffuwdapsfla s bansaanmy

21 DC i2
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'? Whach of the follewing mstitutions have been set up by the government of India to check

misconduct, malpractices and corruption on the part of the Public Servants?

1
11
|
v

(A)

Central Vigdence Commission
Lokpal
Special Police Establishment

Central Bureau of Investigation

SO land1v

Il and 111

Q@

1and LIl {y 11and IV

(Auog) s saflunsafen saupren sLGms saupra Qeudurhsea. cepd Curapapans

B {HOuBes b syrerd goufEsiu_ ﬂgﬂ:ﬂlmm Ty ?

I
[f.
ITI.
V.

(A)

el
®)
(©
D)

Wi semsmafiliLE @
GeumdLimgs
Fmis & ATend) Sraniy

wadu yecamiey dfley

11 gy 111 (B) lwgmyw [V

46  Match the following
fa)  Part-II of the Constitution
{b) Part-IV of the Constitution
{c) Part-VI of the Constitution
{d) Part-XX of the Constitution
Codes

4 1 2 3
4 1 3 Z
1 4 2 3
2 1 3 3

23

()

[ wogns ITT (D) I wogw IV

Directive Principles of State Pohey
State Governments
Amendment

Citizenship

BC 12
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‘8.

49.

50.

v

A new all India service can be created by

(A)  An amendment of the constitution

(B) An executive order

(C) Passing a resolution under Article 312 of the constitution by the Rajya sabha

(D) An order of Cabinet committee on appointments

S0 LHu e Qpdlun vellow 2 Harsgeug)
A @6 SrHueeniug sl s Amsssdi wpaud
B) @ Qewdgmp gamen apawd
M 2 puiy 3126 & LmprEsLapSHar Gloaansuuia Siwranbd HanGeaunpeuger epwid
D) GColen’ uexflflwwens @pellen Ly enam epaid

Which one of the following shall not be considered an adequate ground for the issue of

Proclamation of national emergency?
(A) War (B) External aggression
(Cy Armed rebellion W Internal disturbance

SVt 6u (6L e U D M 6T GTeiJQGuﬁa?lg)j Cse Gpmésy fooow ArsLaupsgesnd Curgurea
SIYERHIONG SH(RFILIL Blieng?

(A) Gur B) Qeuefipm () spsdmdiiiy

©)  <yuyss saeuFD (D) eamprl (s Gl

By which of the following amendments, the Indian President is bound to act according to the
advice tendered to him by the council of Ministers?

W 420 Amendment (B) 44 Amendment

{C) 45" Amendment (D) 46 Amendment

8Cyp Qan(ésuLL srduwmoing dnssusdld, abs Smissdeanug @gb@u.llé: GRULITES HDRGUT
sievwsareanden g Consmentiiar Cufld sl mub Gauwdur Ceuamr(pin?

(A)  42q1g Sirdweemwvlys §nssw (B.) $daug) @irfluewenoliys Hmsso

©) 45y wmflweaniiyg Hmsso (D)  46eugy oirdlweanniys Smasn

25 DC 12
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51  Consuder the lollowung pairs
| Latexite -
Il Alluwaal 2
I Black sl -

IV Clay sol -

high requperature and heavy raindall
sedimerts deposited by ryvers
guttahle for cotton cultivation

suitable for plantaticn

Whach of the above pairs are correctly matched?

Lﬂ I 1T and 111 B}
SMEL ML (B R Sy
| FO 8 sl -

M swew_a v "
[l sfea oo -

[V, asefi e -

(Ay I 11 wogns 111
() I, 11! oggo 1V

I.1land IV (Cy I I and [V Dy LI and IV

s Qauuuw EPE e way
phsa 1 Lg s EEUASLILL L L B8
umsd daatspie JIDH
Carcu Lalln sEicnen se@ua® TDOE

By [LIlwpgwIV

(Dy LI wpge 1V

62. If two chce are thrown, what 1s the probability that the sum of the two faces oblained 1s

neither 7 nor 117

' qﬂ 7/9 (B)

97 {4 Vi Dy ye

@rew s clluuLGlidpy aLh am | mbag |1 gownsspsre Bapses o

(A) 7/9 (B}

91 1y 7 LT

53 The word Valanchiyam in Chola period means

(f, Viliage Admimstrators

,Jlf. Marchant Group

() Tax collectors

(D) Arusts

DC 12



a4,

99,

Gampt srasdld ‘euengsfluid’ eremp Gerd gMaen Qunmer
(A)  Agms seudland B) eafias @
(Cy  afleuge QasGaunt (D)  semegsiad

In a democracy a civil servant must be committed to the :

I Goals of the constitution

II.  Common good

IT1. Ruling party’s ideclogy

[V. Execution of public policies

Selept the correct answer by using the codes given below :

Codes :

(& L MlandIV B) I HlandIV (C) I, Il and III @ﬂ, il and IV
Q(h wESETTL S BT 1460, @ Guenol LesHwment stiueiiy e Qewdul Gaa@ngwg) :
[ ardlueevidean ghsCards s

Il GQurgy sesdne

[l eyesmafudida Qemiamsas @

V. Qunga dsraessmar QeuduBsgausns

emeumd @i e vwauBed sflurear eflant g Gamey Qawis :

IO ‘
@A) I I wpge IV | ® 10, 1l wpgs [V
© 1,11 wppo I D) 1,1 wpgs IV

In which of the following, council of states has equal powers with the house of people?

(A) In the matter of creating new All India Services

w In amending the constitution

(C) In the removal of the government

(D) In making cut motions

WSlehreu(meuareu DHIET, M WTHlREET Bienel D&GET Bieneui]Len &1 sy HerarHdrarg?
(A yhu sdle QBHul usfisdr 2 manssdia

(B)  @idueensimus dmsguda

(C)  wpenmsgems uge Bémd Qaliaudle

(D) Qoul (Hg Srorentugenet eper@umflauded

27 DC 12
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aB.

59

Dr. AP Abdul Xalam has been emphasizing the adoption of the following to eradicate)
poverty in lndia and te have sustained econsmiz growth

(A) MGNREGS (B} NRHM WPU&A (D} NFSM

Gpfu prisen apmcau gfssar. Sowwra  Qurmaengmy  waridflao dopage,
wraLf AP sugd samd sarse soysswdnggors dsnipg Soplsrea Caemfin deagy
BHUI Ly

{A) MGNREGS (B) NRHM {C) PURA (Dy NFSM

To improve the status of women in landed property, states like Karnataka, Tamil Nadu and
Andhra Pradesh have amended the

U Hindu Succession Act 1956 (Bl Hindu Succesaion Act 1967

{C)  Hindu Succession Act (98] {D) Hindu Succession Act 1996

&ipTL&T,  FApErd wopn aefls GGssn wnfledsda Quansella fo cian gyseg
s wihgaisn® Asran® aps s

{A)  pfips GsmmEsl o0 0 1956 (B) pflbg Qem_rad sl 1967
(C) pbipg Qgm e s L-n 1981 (D) afiss Aemnsd s 1596
Double counting means

I, Counting the value of a product at the final stage of production

1. Counting the value of a product at each stage of production

M. Counting the value of a product more than once

{A) Tonly I11 only () TandII (D) Iand I

Bmparps semsbiad g

I wpusdoien @pdfewcu Qurmisafa vdimu wl M sanédBsd

II.  egughden gebeaun s Baowdlgnb g Gunmeila wiead sansd Hgan

ML g Gunmefien wHumL G G meubE Cwwnss sarid@sdH

(A) Twl G (B} Moo (C) Twppol (D) Twppw II1

Which of the following statements is not correct?
(A) An increase in oxidation number of 2n element implies that the element has undergone
oxidation
\ﬁ An increase in oxidation number of an element implieg that it has undergone reduction
(Cy The oxidation number of an element can be a fraction
(D) Oxidation number of an element is a positive or negative integer

Spssan_spysdie ag saprag?

(A)  pmsafivgfar gialaCanp oon myard o ssalpCanpe s bdnedpg
(B) @ pafujfia yhaligbapp ran sy mrd g HHssna bilnsdps

(C)  gelwpfen apsallCanpm oawr (Henamons Giméswmn

(DY  gafwghen ysalnCerpn o ar Cpibed soay afinssd daramg migsw

DC 12 28 a



‘0. Late N.C. Sundaravalli was associated with which of the following?
\ytf Music (B) Dance (C) Drama (D) Education

iyt N.C. apgreded] SpsdnL. asgepuyen Qgm_myamiwer?
(A) Eevs (B) BT g0d (€) prisw M) saed

61. Hilary Mantel won the 2012 Man Booker Prize for her Novel and it 1s significant because
(A) She is the first ever woman to win the award
(B) She is the first living British novelist to win the award more than once
(C)  She won the award twice
All the above

afldarf wrerblid 2012 guen@ Cuen yasr aflmglama] garg provayse Qubng SnuysEHhug
gQemafle

(A seursren svuffenan Qumb coged Quaoesf]

(B)  gm apernsE Cuod cuefmdaents Qumbd (pe6 aumph 96 g 6y Guempasf]

(C) s @raw() e SieuellwHenen’s Qubpararmi

(D) Gopsar. nasgih

62. Find the odd man out. .
(A) Shaurya Chakra (BY Kirti Chakra

(C) Sena Medal ? Param Vishisht Seva Medal
QummpsTEams CoibolsHEseLD.

(A) sayfiw gdrn (B) &nsd sgyn

(C)  Ceennugsad (D)  vmb e Goeur LEESED

63. The third stage of the Indian Nuclear Power Programme is based on

(A} TUranium (B) Plutonium
w Thorium — Uranium 233 cycle (D) None of these
@g,é,\u_l Slam s S LSl ppanmreug) Blena) Gleneunesareunen g OiLisnL TS QaTaTL g
(A yCreflwn ] B)  yepGLraflwid
(Cy  Gasmilww - yCrafwd 233 spnd Dy @Eda ggeyd Qama

64. New Indian census data released on March 2012 revealed that
2 half of all Indians do not have toilet at home
(B) nearly 10 percent of the people own a telephone
(C) 92 percent of the people are having access to treated drinking water
(D) None of these

g 2012 syenm Gavafiud vl L @sdlu uhw yereflelouy flaemaudeniiig

(A)  @sdwredld undsgn Cunul G efl s safiiumn esd Canamgdeama
(B) dlisl i 10ae8wpssnh wiser Qaramalusl asusgdraraer

(C)  sniewu@SsILLL GybT amadaw Qubneurset 92 s565510

M @ argioyd @b

a 29 DC 12
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65  The famaly e whin these endungeied species greal Indian bustard and lLesser Florca
which nave got a cedicated Jand for breeding un the Aymer districl of Rajasthan beleng tn s

y Rurd 1R Dear (C1 Camel (D} Bisan

Birgeprera sl wiec il pusataay et aghnsial palips Fobfiedn
wLnfRaE . Sl g LS rang mas.s Fawasaren JMpdu Lo g wenmn Duoding LG flaran,
Lg'.aﬁ ffj};_:a}k.ﬁﬁ‘” PLLL Y

(A) U By wrar () glrasn (D) sl e

66 Match List [ and Liat 1l and anawer using the code given below.

List | Liat 11
(&) Sebastian vettel 1. Archery
(b)  Vijay Kumar Malhotra 2. Wrestling
(e} Saina Nehwal 3  Formulaone
(d} Yogeshwar Dutt 4  Badminton
Codes ;
(a) (b} {c) {d)
(A 4 v 3 1
@ 3 2 4 1
(< 2 3 4 1
JfN : ] 4 2

ulgud | e ca oo [ dami dunmgd Gasumen gdudBad Barar() ebla_waf

L g | vl g 11
(8} Geievge bl 1 daanenas
b} egimwnt whCanrggr 2 wpluar
() amisenn Cpeura 3 rumiopen g
(d)  CunCasvai pp A ook

sHJI6

(a) (b} (e} {d)

(A) 4 2 3 1
(B) 3 2 4 1
(i) 2 3 4 1
(D} 3 ] 4 2
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‘7, Match Last [ with List If and select the correct answer from the eades given below.

68.

List I List II
(a) Amjad Alikhan Writeyr
{b) Ruskin Bond Journahst

{¢) Girija Dewa Sarod Exponent

R S

(d) Ramnath Goenka Vocahst
Codes :

(a) (b) (c) (d
M 3 1 4 2
B 1 3 2 4
© 2 1 3 4
@ 4 2 1 3
afleas I 2 Len eulens 11 Qenarr’s Qurmsd sfiuner eflanLew Qarhasul Baren Qamau e mba
Qg fey oia

euflena | aflens Il

(@)  =bgs Siarer | 1 epggnei
(b) - pevdlen e 2. ugdhsmswrern
(c) Afgr Cael 3. #Qyng senevent
(d) gmopng Camuksn 4. eundumnl() seeert
GLINICE

(a) (b) () (d)
(&) 3 1 4 2
® 1 3 2 4
(C) 2 1 3 4
© 4 2 1 3

In the recent presidential elections in 2012, the Russian President Mr. Vladimir Putin and the
American President Mr. Barack Obama, were consecutively elected for the

{A) Second and third term (B) Both for second term
&’ Third and second term (D) Both for the third term
sBugd parQupn 201250 e Bywras genwour Carsalldr. raywnelén . aiermgfi e
winb HBwhsaeldr §m Lrts gunor Qg Fééluns , - qpen daupdl
Quidmsrenant
(A)  @uanino vopL apergan B)  @Qmeurw Goar_b aparp
(C)  gpamnd wHmd @rarLre (penp (D) Qwaumd ppenpad (pevn
31 DC 12
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69  Whach ure of Lhe follow:ng 18 nat related 1o lintea Notiins Ogauizations! F
rAr MullCateral tnvestment guarantee agency

v leternatonal tircance < Jrporat.on

100 Toernat.onal cenbre for settlemerl of wvestiven: disp ates

M Bk ol internationiu settie:nents

RS B S SR B DD 4728 Geny Al 1 T
1A) sl gl in o gf0eag paaT Bgean

(B) ey fif Sgean:

1CY rpped Jargs fraasra uanan, (j answin

(D cear_y frasmesra oondl

0. Whch 1s the discipline for whach Rebert J. Lofkowitz and Brain K. Kobilka received the Noble
pnee for the year 20127
1A} Chemistry (B}  Physics (Cy  Medicine (D} Laterature

1% a0 gga ) opss geopasns grune. O daoCardl waw wpgen Sdqwar Sa Canfeandips
Bpno@ ufts e g8 7

mﬁmflﬂum B) gupdow () oEsgpeuw D) geddun

71 ‘%u the first Bharat Ratna Awardee®

Shn Chakravaru Raja Gopalachan {(BY Jawaharal Nehru
tC)  Dr. Rajendra Prasad (DY Dr Zakir Hussain
Lo ogenn ehimay WUDE Apge pum wEm T
(A)  WResoaungd @rrglarunaan (B) mesnwna Cpm
(Cy  Dr grlgady Sigang (D) Dr. grélr afiCrer

72 Which is the non fatal viral disease transmitted by Aedes mosquita”?

w Chikungunya (B) Dengue Fever
(C)  Filariasis (D) Malana

Ty o gara Gans LT o Kimas g sfeorg aase Cpm ag?

(A) Pasargafivn (B) GLmug arvssa
(0 eulafundey (DY wGadiyn

73 Who are ASHA”

M Trained woman health volunteer involved in immunization, safe delivery and care of
new born

(BY Trained men health volunteer involved tn immumzation, safe delivery and care of new
born

(C)  Trained Doctors involved 1n immunization. safe debivery and care of new born
{D} Trained woman nurses involved 1n immunization, safe delivery and care of pew born

DC 12 32 a



*‘ . oo Ugps o | Syegr) ceniufued wrt? -
(A) sy oEty sosd. urgariurm gppeso Cug Epies Liparoy Gebliseo
uiippeflasoul L Guan e b pa veflytanmsd
(B} B0y wmiy pmpw. utpsTLLTE BptEsl Cup Spses Lipsrly Gepllsey
uSppelss UL San v b g vafluneras

© pBou wopy pogs. urgemsue gpoegs Cup. Sppep vrgstiy Gapioey

Bknani: e
D) sy wEpg sosd urgsruure sppasd Cup. gepes usgsnny Bepbisy
udipgrebasiu L Quer grfiad ,
T4, Area between 15 and 56 kilometers above the Barth's surface 18 called Suratosphere What 1
special about this area?
M7 Azea rich with 90% of ozone (B} Area rich with Oxygen
(Cy Area rich with Carbon doxde {D) Area rich with mosture

cosu urular Gua 15 g 55 HCar JULr ewnr sdar uply e G G rdaduh adp
Sapssiubiangy oot ppaduiged ader)

(A) 00% gCemen BeppAmagib Lol (B) Sonewr wny Perppmssio LTy

(€) sfiunfiommy Bappdmesib uniy D) sruLgs fappfnsss gy
75. What is common about Gulf of Mannar end Gulf of Kachehh?

{A) Largest Gulf areas @) Major coral reef areas

(C} Deepast Gulf areas (D) Gulf areas not in use

WG ST HPD &6 merengLr LD Butgl odn, e ?
(A}  Bsu Guiu s Tasd

€) ppure weas ks

D} e uCursgs Biars amangs, s

76. What are BS] and 251"
W) The Botanical Survey of India and Zoakogical Survey of [ndia
{(B) The Botanical Service of Incha and Zoological Servies of India
{C) The Bame Survey of India and Zonary Survey of [ndia
(D) The Basic Bervice of India and Zonary Service of Indis

G g whpld B oo g ouuse Sfatimnn awe)

(A)  @dfug prar guGafess vope Bpdy dasda g Gadsse

B @pdus prave vaf opgw Befu seaday uaf

€ Bpdus sl gudappe cbpe PrPu vEbsaia fodefsse
D) ddus smuue Laf wbpo Bidu usdesis uaf
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85.

If the area of an equilateral triangle is 43 m?, then its perimeter 18
(A) 16m ) zm © 1Bm M 9m

P FoUES (psGaTan FHT LT -l-\@-ufndtd: SusppaCanangfen sppae
A) 168 By 1248 . {C) 184 M 54

The radius of sphere B is one fourth of radius of sphere A. Theo the rano of volume between
Aand B s

(4) 1:18 (B} 18:1 () 1:84 N s

Bmw.ﬂnm&lﬂug’ﬂnf:%m&ﬂ-ﬂmm“

Sareydgin e arar el _
(A) 1:16 B) 16:1 Cr .64 (M &4: 1

H the volume and surface area of a sphere are numencally the same. then 1ts rads 1s
3 umits (B) 2 umits (C) | units {I} 4 upnits

A Isessda (B 2 semaar Q) 1 segsar D) 4 swogse

A man can do a prece of work in 5 days, but with his son he can do 1t 1n 3 days. [n what ume
can the son do it alone?

(A}~ 6% days (B) 7 days A 14 days D) 8dags

g wallgdr G Camamy pefiCu 5 pn' sefigu wsgy dar Coipgy oCs Caramamu I prlsefigd
(puafipar cafld wadn o o SivCamaany afpaman Br_satie) oy uTr?
(A} 6} pmisan (B} 7pmisar L) 71 smisar (D) 8 prise

Ihstribubion of students 1n seven mstitubons M. N. P. @ R. 5 and T 18 g@iven 1n the Pie chart
shown below Find the total number of students in the insttutione M and 5, if the total
number of students m all the seven institutions is 27500.

(A) 8463 (B) 7516 1 9127 J G404

a8 DC 12
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‘2 Conmder the followmng statements and choose the correct answer from tha options given
below :
(a} Succulence w halophytes is to store water to be used in future
(b} Bucculence in hydrophytes is due to absorption of more water to neutralize the effect of
increased entry of salts 1n the cells.
(¢} Excess salts at times 15 deposited on the surface of leaves
Qf these .
(A} (a) and {c) are correct and {b) is wrong
(B} (b} wa correct and (&) and (c) are wrong
{C} (¢} is correct and (&} and (b) are wrong
W (a} 18 wrong and (b) and {c} are correct

Apmmd blsensaman sy Sendliy Lpsangn b dlen_sefiellnis sfunat gevapg Carey Ba -
(a) afiare sulursbflpars deps fens Cabluls Lariy, Pos sramsafie sesuLDp
. Bgpfimhss sapam.
D) o el n Oudad 1 gams ShalL & SEaLle s §07 o atdas sreiscio
€ foCumersaiih sl ugune o iy Faosala Cuaunnia Cmes  Hdpg.
Bowsdo
{A) (a) opgeo (c} #f ogges (b) seug
(B} {b) sfi iwpgd (3) whaed (£) Seugy
(€) {c) o wpged (a) opgrs (b) seup
D) {2) poug whgo (b) g (c) &

83. Choose the correct order of increase in the oxdation number of 1wdine 10 the following

compounds ;
[,, HI, HIO, and IC1

Hl, [Cl, HIO, ® HI, HIO,, 101, 1,
Mm L,. IC}, HIO, M) HIO, i1, 1,, HI

lpﬂn_ﬂamm&nidh Blumgen pkatige ghp aar sfsorgs papda uflas Hsgs .
[, HI, HIO, wppd 1C1

(A) I, HI, ICI, HIO, (B) HI, HIO,, IC1, 1,

(& M, 1, IO, HIG, (D) HIO,. ICL. 1,. HI
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@96 Gas lighters work on the basic principle of

B8,

n.ﬂ piezo-electnc effect (B) magnetic effect
(C) therme-electric effect (D) electromagnetic induetion
QUMY UpD@aLILTETEGT AauuGin sl & SS5euld
(A)  JGsn- e i enerey (B) &g eflevarey
(C) Qarsuben eflanemay (D) Seranbmd gaein
Match the followang lists and select the correct answer :

List [ List O
{a) Raman effect 1 Magnetic field
(b} Zeeman effect 2. Scattering
{(¢) Stark effect 3. Relative veloaty
{d) Doppler effect 4  Eleetric field
Codes :

(8 B |, (o (d)
A 3 1 2 4
B) 4 3 2 - 1
@ 2 4 3 1
2 1 q 3
afles [-01 ot afies I1-mean Qurmid) siunen efien_ewis snews :

sufleoe 1 afiens 11
(&) rmoen sBlenarag 1, ampslysb
®)  Fods sblwaray 2. fspa
() sounth ey 3. sriy HeaCeaisin
) Lnoen dlenensy 4. Benyen
@GS -

{a) (b) () (d)

(A) 3 1 2 4
(B) 4 3 2 1
(C) 2 d 3 1
m 2 1 1 3

Which of the following statements about hydrosere is true?

I.  The phytoplankton stage consists of free floating species like Azolla, Lempa and Wolffia.
II. Forest stage is the climax community.

IIl.  Second stage in succession is rooted floating stage.

IV. Woodland stage is invaded by terrestrial plants.

(&) L MMand IV 1T and IV

(Cy IVonly (DY 1, [HandlV

39 DC 12
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'y dsnhssi Rearer yallE Cardn arpller maovy, v ifioar sEidd Gamde wllas [o1ar
- aufiws [-ea’ Qunmid wllossgréss i Qsrhsstu’ Qe 0sag 9d8meg sfiurer efla o

Agflay Qowsa ;
LY
£ S, 60°%y
T TuiIAN,,
[ U wlof)
At AR /g0
e TuaN /
EO"Q@
e
90°Cig
cufiens | aufleng 11
@ I 1. Gupsrpgsear
I 2. Apempyser
) I 3. Lmdmbey
d IV 4 dlumums smpgser
GHSH :
(a) (b) © {d)
(A) 2 1 3 4
(B) 3 4 1 2
() 3 2 1 4
(D) 2 3 4 1
101. Consider the following statements ;

Asgcertain (A} : India is the Jargest producer of mica and Kynaite in the world.
Reascn (R) :  Bauxite, Silimanite, Dolomite are found maximum in India.

(A) _ Both (A) and (R) are individually true and (R) is the correct explanation of {A)
Both (A) and (R) are individually true but (R) 1s not the correct explanation of {A)

(C) (A} is true but (R) is false
(D) (A) is false but (R) is true

41
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@ 103. Consider the frllowing statements -

Assartion (A) ¢ Tropical cyclones arc a system of low pressure
Reason (R) : The differential heating over land and sea probably causes low
atmospheric pressure to develop

W Both (A} and (R} are indyvidually true and (R) 1s the correct explanation of (A)
(B) Both (A) and (R} are individually true but (R) is not correct explanabion of (A)
{C)  [A)1s true but (R) 1s false
(B} (A} 1s false but (K) is true

Eypaaggue aun sk seoan seuel

Sy (A) : aummmwmﬂmampw%mmu&n

sapasnd (R) : aaflpan e gn) SPssh LBUTEUSSE BopD. SLGWD DIPLLL
sorelie) e IULLL S5 STTMTONEHL

(A)  (A) wpye (R) @raeto e, Cogno (R) adnug (A) dipsg sfiwune sagemnorgd
' B) (A) wpp B) @rar®i ofl. Cogus R) eraug (A) dpe shurar srpembams
{C) (A) sl e (R) gaupg
D) (A) pasp gané R) of

104. Match List [ with List IT correctly and selact your answer using the codes given below :

List 1 List LI
(Rivers/Tributanes) (Landforms)
{a} Chambal 1. Delta
{b) Cauvery 2 Jog warer falls
E {¢} Narmadha ‘3. Bad lands
i {(d) Sharvathi 4  Estuary
4 Codes :
(@) {b) © (d)
{A) 2 1 3 4
{B) 1 2 4 3
(C) 4 3 1 2
0(’ 3 1 4 2

o 43 DC 12
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106.

(a) \CW
Ho‘f
0 ORARANN
(c)
O /\/\/\/\/\/\/\/
(d) \:“,C :
HO
BHEEH
{a) (b} (¢) (d)
(A} 9 3 1 '
(B) i 4 9 3
(C) 3 4 2
(D) 1 2 3

i argdlafisa

wfisn s wng eroy sullaw

s san b Qarupiy edfloand

urenZureliinST

Match the following and select your answer using the codea gven below :

(a)
(b)
()
(d)

Vaisali
Rajgir
Pataliputra
Kashmir

Codes :

(A)
(B}

I

G} Cd
e = e
=" I =T o

45

H

s
3.
4

Ajatha Satru
Kanishka
Kalashoka
Asoka

DC 12
[Turn over







.!0& Match the authors of List | wath their works in List [1 and select the answer using the codes

grven below ;

Last [
(a} Aryabhatta
(b} Brahmagupta
(e} Varabamihira
id; Bhaskara
fe) Palakapya
Codes :

(A}
(B}
(€

N

1a) (b (e} (d) (e

B O W w
e s s D
—_— el @ de
L I A

= & Kooh

List 1

Brihat Samhita
Hastyayurveda
Surya ssddhanta
Khandakhadyaka

Siddhanta siromam

g la cder glifuseen oLsue b o oer sarsese s el uysCem® Gurmid
shiurer e daw 0y Csrfasnu (harver Qgng S LuduBss e drua

{a)
)
{e)
(d)

(e}

(A}
(B)
(CY

L e [

(a) (b) e} (d) (e}

[ I« T~ I
e = =
— Ll G
[T IS R N

o M B

47

Lt 1
s rosbpe
.
e Appmppis
g 80
Iy —
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@ 1L

112.

113.

@ 4 2 1 3
g7 4 1 2 3
(C) 1 3 4 2
D) 3 1 4 2

Age In years : 10-20  20-30  30-40 40-50  50-60

No. of persons : 8 24 40 2% 6
The relative frequency of persons belonging to the class interval 30-40 is

() 0.60 (B) 040 (C) 40 (D) 60
sug) (eumLsda) 10-20  20-30 30-40 40-350 50-60

puiselen aramafams @ 8 24 40 22 )

30-40 cugy @leniGeuefl 2_grer puflen st ElapQeuanrang

(4) 0.60 M 0.40 (C) 40 (D) 60
Sector : Agriculture  Manufacturing  Services

Revenue cellection ; 22% 40% 38%

When represented in a pie diagram, the angle that represents manufacturing is

(A) 72° B) 96° o) s D) 216°
s - laugmud  adusfunerigar  Coaeu

cufleuge 22% 40% 38%
sulL eflargaiugdan epad @samar GHid@n Cung 2 pusdlumerier GCamamrid
4y 72 (B) 96° (€) 144° ' ) 216

Match the following :

(a) FORTRAN 1. Procedure oriented language
ty C ' 2. Object oriented language

(¢ C++ 3. Event driven language

(d) VB 4 Formula translation language
Codes :

49
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Kpacm qupery dursagys

(a) FORTRAN | Pracedure oriented language
iy € 2, Obyect nnented language
oy O+ 3 Event driven language
(di VB 4 Formula translation language
B
{a) {b) {x) (d)
{A) 4 2 1 3
(B) 4 1 2 3
(C) 1 3 4 2
(D} 3 1 4 2

114 Which of the following are bus architectures in personal computers?

I
})
I
v,

(A

Peripheral Component [nterconnect
Industry Standard Architecture
Darect Memory Access

RS232C

[and IV w 1and Il (y MIandIV (Y Tl and 11

Latias o [Batemnfd g daas LAory 2 SO oo denp GeRe oa saeloh rfuld

ANy

3
il

HI.
IV,

Al

DC 12

o_grafi (e Engenm s

auatla Fdomes annuy

GRIc Loan pasush CaBFED gensmn
RS 232 L
| wpgd TV 1B} loppall iy M ugge IV I 1N wemn il

20 a



. 115. Convert decimal 44 to binary
W 101100 (B) 011001 (C) 001 (D) 100011

sFwLb 44 @ el wrs WwrH

(A) 101100 (B) 011001 (C) 001 ' (D) 100011

116. Which of the following should be avoided as methods of presenting data?
W spheres and cubes (B) bars (C) pie diagram (D) pictograms

deugmiser somisEh apenmulild Spararuaunme aamg sellTés CeuetrHin?
(A) Csmerd wHmid saregTb : B) ulenL

(C) e L efemdsliuLib D) o (e eferdsiiuLid

117. For non-overlapping classes 0-19, 20-39, 40-59 the class mark of the class 0-19 is
@A) 0 ®) 19 N o5 (D) none

0-19, 20-39, 40-59 ereirp Cupuggebn eu@lilda, sugiy 0-19-6n aug Uy GBlLQues
A 0 B 19 (C) 95 D) egeylloame

118. Frequency density corresponding to a class interval is the ratio qf
(A) Class frequency to fhe total frequency
W Class frequency to the class length
(C) Class length to the class frequency.
(D) Class frequency to the cumulative frequency

BapQeusir 15456 QgL augliy Gl Qauafl sldsnreng
(A)  eauEuy AspGeier wpad sl () Hspbeua iy

B)  eguy BapCeusr wpsad eugliy Fanb arey

(C)  eugLy perd psed auEliy Hlspbeia suany

D) el fapRadt s Geley Hep@eudt euany

o 51 DC 12
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112 In labulation, source of the data, :f any, 18 shewn in the
q’ﬂ Font note
(B} Body
(% S':ub

{Th  Captien

U g uwsenpadien. eleunusen Carppreuni GmoSler syganan s1anlggan agy

{4)  uvesansafier gl g Iu B mliuy

By Lrsn
() s
(N Bl |

120. The phrase Vatiga) Cheidhi’ denotes the Art of
L

%

'ﬁ Painting
By Dance
()  Sculprure

M Music

‘alymss dalf - ago Ggm i zhlag.o saa

(A) geluw
(B} poeno
I Fpuw
(D) gars
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@ 2 Point out the correct event/given below in which Lala Lajpat Rai received severe lathi blows
and died because of that
(A) Non-Cooperation Movement
\Gm Agitations against Simen Commission
(C) Civil Dis-obedience Movement
(D) Quit India Movement

Epsaramueicupilelmhg. ereroguding sewgul (. Gniusie smarwrs Qb sfurer
Bspaneus s qsam ey

(A)  g@amenpuinein Quidan

(B) avswen gngis@pedneg adlgren Cumpmiib

(C) sl wyuy Quésd

(D) GeusremeruGan QeuellCwm Quissn

122. Find the odd one out with reference to the Reforms Act of 1935

(A) Provincial Autonomy (B) All India Federation

(C) Dyarchy at the Centre MDyarchy in the Provinces

Eipssnaruaneunmer 1935 sy e FrEmess sL_sg e QUTmsSLNDZFS GOILGHS |
(A)  wrfle swrl 8 B} o QpHu sl s
‘ (C) wsHle Prlawn & D) wriemsafido @ e wn 8

123. Which of the following statements about “Individual Satyagraha’ are TRUE?

L 1t was launched 1n October 1940.
II.  Failure of the Cripp's Mission was the immediate cause for starting it.
I1I.  Vincba Bhave led the movement.

IV. The Satyagrahis from Tamilnadu went to Delhi to join the Movement.
(A) 1, ]I and IIT are true Oﬂ I, IIT and IV are true

(C) 1L Il and IV are true (D) 1l and IIT are true

« 53 DC 12
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“geh gt apdly dinnn miigs desem sppesfla sfonmene, a7

1 gy maCe don 1940 mpem(y Ggan s gy

1T fdoe mogefon CanwediGe [etluans Gam_ tall L addnar oLy, £17aRD

L gevdusaging e o Lrlan gasaonQuipg p_ gl

IV gesbusspbe siclg &aramugdpars &80 b wallnbs rhdunfodisa QLo Gearpant

(A} LI cngea 111 sl onarany B I 11 eppe IV sfluraae
10) [T sopg TV afluimenaned M I epgus [T sboeamame

124. Conmider the “lowing statements and choose the correct ahswer

Assertion (A} - The unmediate oceadqion for the avrest of V 0 Chidambaram Pullar was Lhe
organisation of feheitation meetings celebraong Ripin Chandra Pal's
release.

"  Reason (R} : V0. Cludambaram Pular started the Swadeshi Steam Navigation
Comgany

(A) Both (A) and (R} are .ndividually troe and (R) is the correct explanation for (A)
m Bath (A) and (K3 are individually true but (R) is not the correct explanation for (A)
(C)  (A)is true (R) s false

D) {A)is false (R) is true

Uanmami sppsant sogdo danaed sfuoe diaeug Osfla deds

app (A} . dfe sbu e sonde d@Gsscesus Gsrana(s  Smors
SEUGES L UMphES UL Al af & Blouns Sempe maidaa o

srremni (R) w1 Apouns S st se s38 Brved aue Spaamias den il

(A) (A wige (R) Goawdon gaflou_ L wasdd i Cogus (R} aeug (A) dipsrer sfiuse
blendain

B) (A voppw R) grarmle gafia . vasde o gavo (R) caug (A) dpsrar sure
Blakanion

(C) (A) o (R) paugy

(D} {A) paug (R) s
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. 125 Malch List | weth Last 1T unid seluct the correct answer wsing the coce given below Lhe lists

List : Lasz T1
(at  MNebiu Regurt I Previnoia, Aulonuay
{h} Mont Ford Art 2 Compiete Indepe ndenze
1) bovernmert of India Act 1935 3. Dyarchy in the Pravinces
4y Lakore Corgress 1 Dominiun Status
Codes

ral (k) izl fd)
(A) 1 3 2 1
) 3 1 2
i 3 i ] 4
10 3 4 2 1

weilims 1- & . 0 wutlad Il—qm.'.m_- '31}:’_‘:-.“] . 'F';r.amm Ilﬁ:;&*l ?M'.‘-L.l.._@éu?m Q‘ﬂ@ug‘iaﬂ&pg
rllune eba Saas bpfla. Las

s | ' eufiaa 1]
'a)  Cpm sfs@s I wrfle geanrdl
D wran -3 s 2 2 plg =Endvo
i) Einfu sgasiio 1935 3wl . Ay B
id)  naam anmdlyen 4 pown_ ity selups pee B1G
HHRHEN L)
b3
{a) (b (c) {d)
{A) -4 3 2 1
(H) B! 3 ! 2
(€ 3 . I 4
(I 3 4 2 1
126. Which of the following are correctly matched”
i V.D. Savarkar - Abhipav Bharat Society
1 Madam Cama The Bande Mataram
It  Shyawmn Krishra Varma - Hind Swara)
IV Har Dayal - Indian Home Rule Society
(A} 1and 11} (B) Tand IV vrw" Iand 1] @ 1l and (Il
& ik DC 12
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127.

128.

e (mauen a mpen sflwirs dumpssuul Haeng aee !

I .b‘ﬁ.ll}. sneub sl - SuAhal LTTHHEIED

. G wamon - WhHGE WIgoD

[ eflumeg) Hrasameemen BES sLITEwLW

V. aprgwes - ALY W LI L A7 I

(A Loggne 111 (B} [ womolV iy ) wpga Dy H wiy 11

Whe ameng the following were Indian Freedom Fighters outside India?
l. Lakshmi Swaminathan
I Aruna Asaf Ali
. Madam Cama
IV. Usha Mehta
SV 1ond 1 (B) Il and Il () TandIV (D) Tand 1l
ECy sf0I auisale Qaalipm g dimbs Curmmaw Bidu appdos Cunyr L envas: aaui?
L alsd seauniiprgen
I sumam e s
IHI. Gwid smor
IV.  eapr Guggn
(&) T ogge I (B) 1w 111 (C) 1 opgnIV D) 1 whgywo 11
Who among the following were the prominent workers of the Congress Radio Station named

Voice of Freedom” started in 19427
[.  Usha Mehta

II. Remmanchar Lohia

0. Kalpana Dutta

I¥. Aruna Asaf Al

{A) L landIV (By IL Il and IV (m land [1 (Dy 1M and IV

DC 12 56 o




129.

dlereumueutsatic, 1942-a Ggm dsiul L “sspbrsflen gms”  aap amudigey dlCumss
Panausgfles vaflundfiu peeramnwnereunasen erair?

I sagn Cugar

I1.  grawGenss Sardhwn

HI. sdbosn gggr

V. symann gyo el

Ay I, [T oggw IV B 1, [Moous IV (O Togge!ll M) T oppgue IV

Conader the following statements and choose your answer :

Assertion (A) ' DBardoh Satyagraha organised in 1928 under the direct leadership of
Sardar Vallabhbhai Patel was a victory for the Bardoh Peasants end a
blow to the Governn;ent's authority.

Reason (R) . Governor, Leslie Wilson appointed a Committee of inquiry and its report
favoured the Peasants' position.

\M Both (A} and (R) are individually true and (R} is the correct explanation of (A)
(B) Both (A) and (R) are individually true but (R) is not the correct explanation of {A)
(G {A)is true but (R} is false
(D) (A) is false but (R) is true

Epsargnin eundfly et smiSa Aaraw(y o disin el Osfla) Qe

spp (A) o 1928-& sfgri eudeuml ol CLslar Sy geaendio sLssoLC L LiGrell
spflundlgsn, urGsTdl 2 paitswsss Gk Japdl vigw sns ssnsdps G
Sily.

amypamni (R) o =plerpt Gedvell efldallus g silenyeent @upme mewssT Hsan siflsms
2 peunser Flanandlenen yafgss

(A} (A) opgib (R) sflurenea, Gogun (R) adiugl (A) elpes sflurar silanasis
(B} (A} whge (R} sflwnsnsney syané (R) erarugy (A) dins sfunen el ersswda
(G (A} ofl ggamd; (R) poups

D) (A} peugy apema (R) s
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.134. Which of the following is /are not the function of the department of personal and

135.

administrative reforms?

[.  Advises the Government on policy matters

I1. Provides management consultancy services to public organization
III.  Impacts management education and disseminate information

IV. Supervises the various administrative departments.

(A) Liland N (By  [land [Tl WIU only (@ Y only

ECyp Gar(asin Reaeaeuseliv aglame uaflurat wipd K AE gop Beurssraenr vl
Bewa?

I swsdagBpm Qerdns serefie yCarsaa apasdos

. freuns ylarsmenaws Aungy Ppests@nss wydigdpeg

1.  @reynas sasl whpwd Gaodsmer aupiisfpg

IV, uveCap oy Asgeop Gorsardama Cupumtae Qaidpg

@ LI wppdII  (B) 1 whyo !l © IV i @O NI w o

If the president of India exercises his power as provided under Article 356 of the constitution
in respect of a particular state, then

(A) The assembly of the state is automatically dissolved

{.B} Article 19 is automatically suapended

{C) Par_liament assumes the power to legislate on the subjects in the state list

(D) Governor of that state assumes the power bo legislate on the subjects in the state list

Sitflwamouys sl apuy 356 g vuauBES ByuTsE seear GO mrﬁmgﬁd? Apmass.

poaeu drGundige Curg sis wrfleb assamseau damamead spiEnT

(4)  swvwriaifa s Linamp gramsGa seapg Ajn

B) 2 puy 1% apdeb BywssLsna sshfly o fiew gramsCer qprd HBH
orfal v gwdld aamm Qurmeiiar Jg widu ummensann SORuDYo SHETHDS
senaflsamaunss Gupy SlHn

D) wworfle epmss orfiel ulgudd eamer dunmala Sy salcflupgn sfsmmo
Seor_ggebiHd '
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138. Match the following :

{a) UNIX 1. MySQl,

(k) MSDOS 2 Belllab

(¢} Open source DBMS 3.  Oracle

(d) RDBMS 4. Microsoft Corporation
Codes :

{a) (k) {c) (d)

(A) 2 4 3 1
®) 4 1 2 3

2 4 1 3
oy 3 1 5 4
Spaamn_eupenp Quamsss -
{a) UNIX 1.  MySQL
{b) MSDOS 2. Belllabs
{c} Open source DBMS 3. Oracle
{d} RDBMS 4. Muwrosoft Corporation
SHGG

(a) (b () {d)
Ay 2 4 3 1
o 4 1 2 3
{C) 2 4 1 t
(o 3 1 2 4

139, Which one of the following is not a non-sense codon?

(A) UAA @/UAU © UGA D) UAG
GeramaaradQer ag gay STEs0H0 wRdup suGag (GHIE) sbwa?
(A} UAA ® UAU (C) UGA (M) UAG
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142, Who was the Chairman of the official language commission in 19557

v Sir. B.G. Kher (B) Kothari
{C) Mudsliar {D} Balwantrai Mehta
1955 i gy b Sigreuas GumBeurflwd @ pellen geparey wimi?
{A) &t & g Gaf {B) Carggsrfl
(©) apsehumy D) vdeupgrmd Cuogan

143. Which part of thé Constitution of India says about the Election Commission?
(A PartIll w Part XV {Cy Part XX (D) Part XXII

Ebdiu smduaanidea apg urad Cargd syamemun LN sagdng?
(A} wreswm II1 (B)  wnsm XV (Cy  unsn XX M wrsn XK1

144. According to which article equality before law and the equal protection of the laws within the

territory of India 158 maintained \‘6{.
Art. 14

(4) Art. 15 (B) Art 16 (D) Art. 17

@pdu fRovupnbe slosfér open Siaeteumly DD WML FCOUG SOOTET  LITGETHY
eremueneugen erbg Siflellenng upmodlEsl i ma
(A) @fley15 (B) Gfley 16 (C) Gifley 14 (D) Giftey 17

145. Point out the wrong statement in the following with respect to money hill.
(4) The prior consent of the President is required for introducing a money bl
(B) A money bill can be introdueed only in the Lok sabha
(C) The Rajya sabha has to pass the money bill so transmitted within a period of 14 days
from the date of sending
vﬁB’ A money bill can be introduced only in the Rajya sabha

B whargr Qamuiurs Sereumeasraidper saumnem &hEHemer & 106 GTamissaib,

(&) B wCargrelmen siflpaiu®ss @i wrss saamaniien apan sigod Cameu

(B)  waseeamaiia wHCw H wisrzmes Sflapslu@EE puwD

0) sgulu s safldmis 14 sms@msma wifloksama B8 wGsrsme HanCaupy
Gauem (i

D) A8 wlsagr wrflatsmmania ol GG HflopaliuBss (mgub

146. Shifting cultivation is practised in India by the tribal group

yﬁ Puoda (By Ladong () Chena (D) Roca
Gliflunsbler @ 0@uwmn Cavarmemenwenws GonEarememn Lypkig Jeni
{A) Gurir (B) ik (C) Caann (D) Gprgan
o 63 DC 12
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151.

162

153.

deraumd flaansaers amidod Qandrareyn sfureng; og/ame?

I st sntwen oL gopaian ufipyorsdr - 1854
I mpen i @og - 1884
ML udsmws sps s 10 - 1504
IV. Graae udsoas sgso - 1833
(A) T wpgw 11 (B} Il wpgya IV
(Cy I opgo 1 D 1V wipw [1I
Fill in the blanks -
According to Human development index of 2011 country ranks first and
[ndia is grouped as category.
{A) Japan, High Human Development
\ﬂ, Norway, Medium Human Development
(C) Malaysia, Low Human Development
(D) None of these
Carg L9 gas Blauus
201ighparer waily wer @I HLgaug pri g @ro wdsdapgy wppo
@pdunr woswurs gy Gfsiu Gaerg.
(A)  gourd. sfls welgaem paCappd B)  priGa. pOapr wefigan npiCanppid

C) vCaflur, gmpuwre oafigan paCappw D) @he ageyn awa

Which of the following statements about ‘the RTE Act’ is TRUE?
1. Catering to the age group of 6-14
Il.  Legal entitlement to free and compulsory education
ITI Catering to the age group of 14-18
Meant for girl students alone
Jﬁ I and I1 (B) IV alone (C) 11l alone (I HTand [V
RTE & i sibuiggions Sarausmid spgsaiia ag sfhumang?
L 8-l ssugen wemsgnisrang
I siomunpge Gews soassrar s ia spseg
M. 14-18 anugent weuitsighésnang
V. Quew wnamsllagnia, o [Hib 2 fug
(A 1 odps 1 B IVl (o
(C) I wi @b @) 11 wpg IV
Which of the following statements about ‘JANANI SURAKSHA YOJANA' was correct?
. The scheme has the dual objective of reducing maternal and infant mortality
II.  The scheme 15 100% centrally sponsored
lI1. Itinvolves cash assstance wath medical care
(A) 1 alone correct (B} 1 alone correct -
(C) TII alone correct J# 1. 1 and I1I are correct
65 DC 12
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157.

158.

Camgi s o9 _gang flruis

MIWMEMWWtMMW——MM
wasd sadudie Fowt parsans @mdapant b ————— Ly Gpduoradd o dravanr
(A) 684 urd B) 485 g pm
(C) 584, prosile 9@ (D) 854. ppendicc ocm

Which Five Year Plan gave importance to development of basic and heavy industries?

W ® 0 €y M Dy Iv

ps gpanan BCLpBO swiueL wppo cwma Jpnipmevessis whbuggan
QII'M_IJ_L#' e ?

(A I y’u (©y Im o v

Omne of the following special inflorescence is the charactenstic feature of Euphorbiacese fanuly
(A) OCyathium (B) Verticillaster (Y Hypanthodium (D) Coenanthium

£y wmumeasdfd . ComICull gHouie sreriuBe fpoy Jis ogef was ag?

Jﬂ surgSun (B) Qe wfCadud () weiupCemen () Aemdrfud
169. The planning commission was setup in

(A) 1947 (B) 1948 (G 1949 {Dy 1960

B R, »

(A) 1947 (B) 1948 {C) 1949 W7 190
160. When was Agricultural Price Commission setup?

(A) 1950 (B) 1955 o 1965 (D) 1975

dlasmy dea grg vps San() Sge s Lg?

(A) 1950 (B) 1955 (Cy 1965 (D) 1976

161

162.

When was National Agricultural Insurance Scheme introduced?

(A) 1979-1980 (B) 1089-1990 \W 1989-2000 (D) 2009-2010
aps e Cafu dasry srodlf P Gem bsou L g?

Ay 1979-1980 (B) 1980-1990 (O 1999-2000 Dy  2009-2010
Consider the following statements

Assertion (A) :  In nature Ag & Pb occur ps oxades and not as sulphides.
Reason (B - The cations of Ag & Pbcan polarise 0" ion easly than 8* on

Now gelect your answer according to the coding scheme given below.

{A) Both (A) & (R) are true and (R) 15 correct explanation of (A)

(B) Both (A) & (R) are true but (R is not the carrect explanation of (A}
(C) (A) is true but (R} 1s lalse

‘P Both (A) and (R) are false

67 DC 12
[Turn over







165,

166.

167

DNA ssanss; bpsar, flsposaa ¢ aran sélug
I dBeCardes wrGumind DNA ea: ordafiur s’ Gulmush usppss
I eapwd DNAa: flor vrQuiod DNAgw swssouflaper

Ul pasrssw pa dughag

V. wmaelusea pa Guplogy

sfivnen auflcs

(A) L IL Il opges [V (B 11,1 [ wpgns IV
(O IL LIV eope I @ IV, 1 [ wpguo E1

Ip [ndia Bex Ratwo dunng 2011 15
(A) 927 females per 1000 males (B 933 females per 1000 males
(C) 940 females per 1000 males (D) 946 females per 1000 males

@pfwnaieo 201 ] gy samga: e dudr AL O dwas Smpss
{4) o ensienss 927 Quarss (B brn gawsaas 337 Goarsd

ﬂ LOTe e senis 140 Quenaea D) o gensmss 346 Guarsa

As per NS50 66 Round Survey the decline 1n employment 1s sharp parucularly 1n sectors

such as
(A) Textiles, Non.metallic & Metal products  (B) Miming, manufacturing and slectnaty
(C) Paper, printing and chemicals (D) None of the above

667 spp el ey sarsdshudanu, Camaswrnuude srarcufy sflanagy Geammo
gapsaiio mr@ouns (Seauns) o srarg

A pedlasr o Comsn sbers wpg o Cers durmersar

(B) sebsgldsmia wpuifper vipi Sagay
0) srlgd msfGsd cogo B rruamy Gunmassd
(D) Cupsar. agape moa

The architact of the Second Five Year Plan

(A) Jawaharla] Nehru (B) Indira Gandh
(O VV.Giri J#T P.C Mahalanobis
Brar_rag gpsreny o pba fpd
(A geaprare Cam B @pdr srpd
() o &d D) 9.8 wapdetamil m
69 DC 12

[Turn over






. 1T}

172

178.

The moments of inertia of the rods A, B and C about their axis of symmetry respectively are in
the ratio
A) 1:2:3 By 1:4:9 {C) 1:§:10 M 1:1:1

A B wipge C panfeag eodfi  sedoos  Guinggy swasdés  gpapuren
8 P Spensafr s
(A 1:2.3 B) 1:4.9 (& 1:6 10 S

Which of the following awards is not among the 'Stree Shakty Puraskar’ matituted by
(Government of India”

I.  Devi Ahilva Bai Holkar 1I.  Kannagp

[II. RaniLakshmi Bai IV. Mata Jijaba

(A) Ileonly (By TandI1ll

(C) 1V only (1)) None of the above

@u sgsrd gouBSsUUC ‘uph s grdvai aelufu digdd Apsam_ i dimg
Si_miselldanas ?

I Gz sxgflewr umi Caprdsr I scrend

L el 0_sfl LML IV. wagr dggmumis

A) Mwi@o B) 1wogib Il

(€ IV olpa 27 Copacrn_ ggdeee

Dada Saheb Phalke Award was conferred on which of the following actresses in May 2012?
(A) Vyjayanthi Mala w7 Soumitra Chatterjee
(C) Waheeda Rahman (Iy Eharmila Tagore

Cuw 2012 - & grpn srGap( urds dmg Qupp py s wmi?
(A) ealguid oran (B) sSdyn e i
(C) aupfisrOrapord D) egillar grami

174. .  Ranthambhore National Park and Sarisks sanctuary are related to tiger
I. Ranthambhore National Park and Sariska sanctuary are tourist centres of Rajasthan
..‘ﬂ Both I and IT are correct (By Both I and Il are wrong
{C) 118 correct and II is wrong (Dy [ is correct and | is wrong
| pengbyf Caflu wiist vhpw sflegss spammawnh GraxEo ydises e Ggm iyso s ea
I #WMHWWW@MH“WMW#WMM
(A T, 1T goem(ib sfwreng B) L II greriin peupreng
(@ 1 swreng l] gauprang Dy 1 sfwreng ] paupreng
o 71 DC 12
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W

.18[1 The 39 chief justice of India appointed on 13 September 2012 is

(A) dJustice AK. Sikei (B) Justice Mohit Shantilaf Shah
‘w Justice Altamas Kabir . (D) .Justice Jai Singh Sekhon

2012 Geiout 13 eieng funfldsiulL 39y @pdu saaans RHuf

(A) fHub aCs Hah (B) A&ud Curabls stpHami agr

(©) Boudl sdwra 56T (D) BHuf Qpufid Coaen

181. When and where 18 the XX commonwealth games scheduled to be held?
(A) 2013, Australia (B) 2013, New Dellu
(C) 2014, Austyalia v 2014, London

XX smwanbeudg eflenemum_Baar bR g, abi@ pancGug S B iud Gereran?
(A) 2013, agevdCreflwm (B) 2013, fy, GLdddl
(C) 2014, ayavdCrefiun (D) 2014, wan_en

182. The 21" ASEAN Summit was held on 18% November 2012 at

v‘ﬁ) Phnom Penly {(B) Myanmar (C) Beijing (D) Singapore
21 eugy ASEAN swCuenamd, 2012, peutbitt 18 Sidny @ing peoQuppg,
(&) pob@uen (B)  Bumemeni (C) S (D) Arsiyn
"
183. Neelam: Tamilnadu as ——— North America during 2012,
(A) Yasi {By Baopha ,jﬂ Sandy (D) Thane

2012 @é frovid : S PBID ereiigy Cuindd —— —— : an_ SQuMsan
(A)  wodl (B) Cunm'am (C)  euneang (D) goGan

184. The nuclear missile Agni V successfully test fired on April 19% 2012, crossed

Kms in minutes.
{A) 3000 Kms, 15 minutes (B} 4000 Kms, 20 minutes
{C)  B0OO0 Kms, 20 minutes {Dy 6000 Kms, 20 minutes
2012 aub smyan@ qura 19 sep gavuce séalt Vo sgy cosman #l.b,
P g s sy
(A) 3000 &4, 16 fld b (B) 4000 4.8 20 b
PP 5000 & &, 20 B (D) 6000 8.8, 20 BB b
o _ 78 DC12
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oonnd [ el dugue 1] o Gurmsd sfure dion_aw Carey Sai

U [ Lt I1
(a) sodlem Gy s (Henat 1. Qeangg Audeng gpong
() A ew soug ' 2. apgenenn Caiey agsmamui
I} aurkay @i 3 Em-gm srifdong Opflu spunaann
whlmgy desennen

{d) SR Soggr 4 amgpu Jmui.‘.qp.’:ﬂmﬁ

(a) b} ) (d)
(A 4 7 1 3
(B} 1 2 3 1
{C 1 3 1 2
D) 1 l 2 3

190 Whach among the following statements about ‘Malala Yousufza) recently in news are true?

191

1. Malala was a 16 yr old nghts activiat

IT  She advocated pirl’s education

[II. She was awarded 2012 Tipperary International peace award from [reland
IV. She was shot by the Tahban

(A) 1andIlonly (B] 1 and [l only

€ L 1 and [I only v LIl WandIVv

sarande Usofsafio Cumue e varwr gevruse sevwen upfu Saamd mbpsaia
T Afluraraney

L wasee gmldawuy o Aswvgae Gumm . dpr

I st Quar soslawl Liipg arSGuar

L sumss swrarpy pr (5 201 2ss0em srasilss samufasmam g lioprh dimg agusoi gy
IV s gedluara soinn i i

(A) [ wpgu 1w i (B) Tuwdgnn Tl we o
(@ LU opge 1l v e Dy L1, I0L TV gyl emamgae
Who s the Chairman of the National water resources council in India”
(A) Prime Minister (B) Mumster of water resources
(C) Mmister of environment and forests (D) Miruster of science and technology
gindiunaiar. Calu §i aa vapsfar saaat
S Segon

(B} frauapgep seosen
(C)  appuup oOPU ST Heop sacss
D adfdue oppw dsmBam U FED H.oben
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@ 197 lx=y" y=2" rax‘ then the value of abe is

W 1 @ 0 oz D) -1

r=y", y=z2" Cognd 7 - 1" aalbd abe —arughy

J 1 (B) © 0 2 oy -1
198 A sum Rs. 800 amount to Rs. 915.92 1n two years. Then the compound interest rate is

(A) 6% (B) 4% () ™ (D) 8%

. B00 arany ma Geam_raw(y tpg el m 91597 plpy calia s ( wis ssdipn sravs

(A) 6% ® 1% o T D) 8%

199 Next figure in the sequence

O 9
(i @ o (=
9

@adsn_fio MDss LLid
g

O

w || ® (| © ) .
200. Area of a rectangle one of whose sides 18 6 m and diagonal 10 m 18
{A) 60 N aEt €y 30 D) 68
om draussian gm uise b J wppu spa apescoel L w 10 & aefli aigen urOuaTey?
(A) B0 B) 48 <y 0 {D)y €8
a 77 DC 12
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